We are as committed as ever to timely, safe delivery of the equipment and supplies you need to run your PLTW programs. Our partners are doing their best to maintain shipping schedules, although some items may have extended ship dates due to COVID-19 restrictions. The anticipated ship date is noted next to each impacted item. In addition, it's possible that some estimated ship dates may change, so please check in the Store in myPLTW when you place your order for current estimates.

March 27, 2023

Project Lead The Way, Inc. 5939 Castle Creek Parkway North Drive Indianapolis, Indiana 46250

PLTW Biomedical Science (9-12)

Summary

PLTW

\$3,191.00

Human Body Systems (Refreshed for 2023-24 school year)			\$3,191.00
Durable			\$2,511.25
Item	Item Price	Qty	Total Price
Anatomy of a Knee Injury Kit, set of 4, Custom Kit New Product Sole Source	\$510.00	1	\$510.00
Bicycle / Floor Pump New Product	\$27.00	2	\$54.00
Bingo Chips, 500 pack New Product Anticipated Ship Date: 05/1/2023	\$9.00	1	\$9.00
Dice, Standard 6 side, foam, 20-pack New Product Anticipated Ship Date: 05/1/2023	\$6.00	1	\$6.00
Digestive Tract Microscope Slide Set of 8 New Product Anticipated Ship Date: 04/28/2023	\$85.00	2	\$170.00
Fracture Repair Puzzle with Repair, Custom Kit New Product Sole Source	\$675.00	2	\$1,350.00
Kidney Slide, mammal New Product	\$12.00	6	\$72.00
Luer Lock Syringe, 60 ml, 10 pack New Product Anticipated Ship Date: 05/1/2023	\$11.00	1	\$11.00
Lymph Node, Mammal Slide New Product	\$9.50	12	\$114.00

Mammal Spongy Bone Microscope Slide Anticipated Ship Date: 04/21/2023	\$10.00	6	\$60.00
Red rubber tubing, 10 ft New Product	\$16.00	2	\$32.00
Spray Trigger Bottle - 16 oz	\$2.25	5	\$11.25
Test Tubes, 72 pack, 20 mm x 150 mm	\$32.50	2	\$65.00
Vernier Gas Pressure Sensor Bulb, 4 pack New Product	\$23.50	2	\$47.00
Consumable			\$679.75
Item	Item Price	Qty	Total Price
Exploring Enzymes and Evolution Through Lactose Intolerance Kit	\$125.00	1	\$125.00
Model Organisms C. Elegans PLTW Custom Kit (HBS 2.2 and 2.3) New Product Anticipated Ship Date: 05/1/2023	\$295.00	1	\$295.00
Modeling Kidney Function with Concentration Gradients and Selective Permeability Kit (HBS 4.1.2) New Product	\$69.75	1	\$69.75
Virus Quantification Using Plaque Assays PLTW Custom Kit (HBS 3.2.3) New Product Sole Source Anticipated Ship Date: 05/1/2023	\$190.00	1	\$190.00

Equipment and Supplies Subtotal	\$3,191.00
Total	\$3,191.00

Total for Items Available in PLTW Store	\$3,191.00
Total for Items Unavailable in PLTW Store	\$0.00

Attention: To avoid potential duplication of orders, and decrease the leadtime to obtain your supplies, we kindly ask that you return a copy of the approved purchase order to the requester to complete the order via the Store in myPLTW. Please do not mail/email/fax the order to PLTW.

PLTW Product List

Address	ess PLTW 5939 Castle Creek Parkway North Drive Indianapolis IN 46250			Created: 03/27/2023 Expires: 06/4/2023	
Website	mypltw.org				
Payment accepted	Credit Card and Purchase Order				
Discount code					
Item		Item #	Item Price	Qty	Total Price
Anatomy of a Knee Injury New Product Sole Source	_	1741-101	\$510.00	1	\$510.00
Bicycle / Floor Pump New Product		752350	\$27.00	2	\$54.00
Bingo Chips, 500 pack New Product Anticipated	Ship Date: 05/1/2023	44PWEE555	\$9.00	1	\$9.00
Dice, Standard 6 side, foa		44PWEE553	\$6.00	1	\$6.00
Digestive Tract Microscop New Product Anticipated		470347-886	\$85.00	2	\$170.00
Exploring Enzymes and E	volution Through Lactose Intolerance Kit	202270	\$125.00	1	\$125.00
Fracture Repair Puzzle wi		1741-100	\$675.00	2	\$1,350.00
Kidney Slide, mammal <mark>New Product</mark>		470182-924	\$12.00	6	\$72.00
Luer Lock Syringe, 60 ml, New Product Anticipated		44PWEE554	\$11.00	1	\$11.00
Lymph Node, Mammal Sli New Product	de	470182-778	\$9.50	12	\$114.00
Mammal Spongy Bone Mi Anticipated Ship Date: 04	-	470177-584	\$10.00	6	\$60.00
Model Organisms C. Eleg New Product Anticipated	ans PLTW Custom Kit (HBS 2.2 and 2.3) Ship Date: 05/1/2023	456	\$295.00	1	\$295.00
Modeling Kidney Function Selective Permeability Kit	with Concentration Gradients and (HBS 4.1.2)	695801	\$69.75	1	\$69.75

New Product				
Red rubber tubing, 10 ft <mark>New Product</mark>	711562	\$16.00	2	\$32.00
Spray Trigger Bottle - 16 oz	470050-014	\$2.25	5	\$11.25
Test Tubes, 72 pack, 20 mm x 150 mm	470149-262	\$32.50	2	\$65.00
Vernier Gas Pressure Sensor Bulb, 4 pack New Product	GPS-BULB4	\$23.50	2	\$47.00
Virus Quantification Using Plaque Assays PLTW Custom Kit (HBS 3.2.3) New Product Sole Source Anticipated Ship Date: 05/1/2023	409	\$190.00	1	\$190.00

PLTW Product List Total \$3,191.00

To place an order for the items included on this PLTW Product List, visit the myPLTW Store. Saved lists expire 90 days after being created or at the end of each calendar year.

Don't have a myPLTW account? To be added to your organization's account, please contact your Program Coordinator or the PLTW Solution Center at solutioncenter@pltw.org or 877.335.PLTW.

Attention: To avoid potential duplication of orders, and decrease the leadtime to obtain your supplies, we kindly ask that you return a copy of the approved purchase order to the requester to complete the order via the Store in myPLTW. Please do not mail/email/fax the order to PLTW.

Not Available in PLTW Store

These items are not directly available for purchase through PLTW but should be sourced from the preferred vendors listed on the Saved List pdf document.

Equipment and Supplies

Equipment and Supplies Total is calculated based on the details you provided about your classes and the items selected.

Pricing

Prices are subject to change. Annual program participation and professional development registration fees are excluded from this total. Professional development fees may vary by state.

Standard shipping and processing charges are included for items available for order directly through PLTW. PLTW reserves the right to pass on additional shipping charges for orders shipped outside of the lower 48 contiguous states (i.e. Hawaii, Alaska, and Puerto Rico).

Sales Tax

Sales tax (where applicable) is not included in the total. Sales tax will be included at checkout.

Computer Hardware

Note that costs for computers, tablets, printers, and projectors are not included in the total. Refer to PLTW's Computer Specifications for details.

PLTW Returns Guidelines

Please visit our Additional Resources page to review Project Lead The Way's guidelines related to product warranties, handling of shipping errors, receipt of damaged products, and the return of equipment.